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TNPSC GROUP I test batch – 2020 
TEST IX – APTITUDE AND MENAL ABILITY STEP WISE SOLUTION 

 

61. Find the value of 
43 43 43 23 23 23

43 43 43 23 23 23

  +  

 −  + 
 

a. 43   b. 23  c. 66   d. 20  

,jd; kjpg;ig fhz;f. 
43 43 43 23 23 23

43 43 43 23 23 23

  +  

 −  + 
 

a. 43   b. 23  c. 66   d. 20  
 
tpsf;fk;  
 kuG Kiw     Short cut:  

= 
79507 12167

1849 989 529

+

− +
   a3 + b3 = (a + b) (a2 – ab + b2)  

= 
91674

1389
     Here, a = 43, b = 23 

 = 66     a + b = 
3 3

2 2

a b

a ab b

+

− +
 

     then,  a + b = 66 
 

62. Find the value of 10 25 108 154 225+ + + +  

a. 4   b. 6    c. 8  d. 10 

,jd; kjpg;ig fhz;f: 10 25 108 154 225+ + + +  

a. 4   b. 6    c. 8  d. 10 
 
tpsf;fk;:  

10 25 108 154 225+ + + +  = 10 25 108 154 15+ + + +  

10 25 108 169= + + +  

10 25 108 13= + + +  

10 25 121= + +  

10 25 11= + +  

10 36= +  

10 6= +   = 16 4= =  
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63. If 34 256x = then find value of x  

a. 4   b. 3
4

   c. 4
3

    d. 2  

34 256x = vdpy; x d; kjpg;ig fhz;f.  

a. 4   b. 3
4

   c. 4
3

    d. 2  

 
tpsf;fk;:  

 34 256x =  

 = 3 4 4 4 4    

 = ( )
1

4 34  

 
4

34 4x =   

 x =  4
3  

 

64. If 
1

3x
x

+ = then find 3

3

1
?x

x
+ =  

1
3x

x
+ =  vd;why; 3

3

1
x

x
+ d; kjpg;ig fhz;f?  

a. 4   b. 7  c. 18   d. 9  
 
tpsf;fk;:  
 kuGKiw (conventional method)   

Let    
3

1
3x

x

 
+ = 

   

 
  cubing on both sides ( ( )

3
31 3x

x
+ =  

  3

3

1 1
3 27x x

x x

 
+ + + = 

 
 

  3

3

1
3 3 27x

x
+ +  =     

  
1

3x
x

 
 + = 
 

 

  3

3

1
27 9x

x
+ = −   3

3

1
18x

x
+ =  

Short cut : 

If 
1

x k
x

+ =       If 
1

x k
x

− =  

then
 

2 2

2

1
2x k

x
− = −      then 2 2

2

1
2x k

x
+ = +  

3 3

3

1
3x k k

x
+ = −    then,   3 3

3

1
3x k k

x
− = +

 
 

1
3x

x
 + =  then  3 3

3

1
3 3 3x

x
+ = −         

    27 – 9 = 18 
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65. Simplify : 
3 1 1 3

26 15 18 37 ?
7 4 7 4
− − + =  

a. 
11

31
14

  b. 
11

28
14

  c. 
11

29
14

   d. 
11

30
14

 

RUf;Ff: 
3 1 1 3

26 15 18 37 ?
7 4 7 4
− − + =  

a. 
11

31
14

  b. 
11

28
14

  c. 
11

29
14

   d. 
11

30
14

 

 
tpsf;fk;:  
conventional method   short cut  

185 61 127 151

7 4 7 4
= − − +     

3 1 1 3
26 15 18 37

7 4 7 4
= − − +  

740 427 508 1057

28

− − −
=    

3 1 1 3
(26 15 18 37)

7 4 7 4

 
= − − + − − + 

 
 

 
862 431 11

30
28 14 14

= = =     
12 7 4 21

30
28

− − + 
=  

 
  

       = 
22

30
28

 
 
 

 

       = 
11

30
14

 

 
66. If ax2 – 28x + 49 = 0 has equal roots. Then the value of a is  

a. 1   b. 2   c. 3   d. 4 

ax2 – 28x + 49 = 0 vd;w rkd;ghl;bd; %yq;fs; rkk; vdpy; a - d; kjpg;ig fhz;f.  
a. 1   b. 2   c. 3   d. 4 
 
tpsf;fk;:  
If ax2 – 28x + 49 = 0 has equal roots then, 
  b2 - 4ac = 0 

 Here a = a   b = -28 C = 49  
  (-28)2 – 4a (49) = 0 
  784 – 196a = 0 

    a = 
784

196
 

    a = 4 
 

67. Simplify : 
3 8

2 2

x

x x
+

− −
 

a. x2 = 2x + 4   b. x2 + 2x + 4 

c. x2 – 2x – 4   d. x2 + 2x - 4 

RUf;Ff: 
3 8

2 2

x

x x
+

− −
 

a. x2 = 2x + 4   b. x2 + 2x + 4 

c. x2 – 2x – 4   d. x2 + 2x - 4 
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tpsf;fk;:  
3 38 8

2 2 2 2

x x

x x x x
+ = −

− − − −
 

   = 
3 8

2

x

x

−

−
   = 

3 32

2

x

x

−

−
 

   
( 2)x −

=

2( 2 4)

( 2)

x x

x

+ +

−
  3 3 2 2( )( )a b a b a ab b − = − + +   

   = x2 + 2x + 4 
 

68. Find the value of : 
1 1 1

2 1 3 2 4 3
+ +

+ + +
= ? 

a. 2  b. 1   c. 3  d. 0 

,jDila kjpg;ig fhz;f. 
1 1 1

2 1 3 2 4 3
+ +

+ + +
=? 

a. 2  b. 1   c. 3  d. 0 
 
tpsf;fk;:  

1 2 1

2 1 2 1

−


+ −
   

1 3 2

3 2 3 2

−


+ −
  = 

3 2

3 2

−

−  
 

2 1

2 1

−

−
 = 2 1−    = 3 2−  

1 4 3 4 3
4 3

4 34 3 4 3

− −
 = = −

−+ −
 

1 1 1
2 1 3 2 4 3

2 1 3 2 4 3
 + + = − + − + −

+ + +
 

   = -1 + 2 = 1  
 

69. Simplify : 
2

1 1

1 1 1

m

m m m
+ +

+ + −
 

a. m2    b. 
2

2

1m

m

−
  c. 

2

1

m
   d. 

2

2 1

m

m −
 

RUf;Ff: 
2

1 1

1 1 1

m

m m m
+ +

+ + −
 

a. m2    b. 
2

2

1m

m

−
  c. 

2

1

m
   d. 

2

2 1

m

m −
 

 
tpsf;fk; 

2 2

1 1 1 1

1 1 1 1 1

m m

m m m m m

+
+ + = +

+ + − + −
 

   = 
2

1
1

1m
+

−
 

   = 
2

2

1 1

1

m

m

− +

−
 

   = 
2

2 1

m

m −
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70.  If 
14

15

x

y
=  then find the value of 

4 3

8 3

y x

y x

 −
+ 

+ 
 

a. 
122

110
   b. 

121

118
  c. 

110

102
   d. 

720

721
 

x

y
 vd;gJ 

14

15
 vdpy; 

4 3

8 3

y x

y x

 −
+ 

+ 
d; kjpg;G vd;d?  

a. 
122

110
   b. 

121

118
  c. 

110

102
   d. 

720

721
 

 
tpsf;fk; 
x = 14    y = 15 

3 4 3 15 14

8 3 8 3 15 14

y x

y x

  −  − 
+ = +   

+  +  
 

  = 
1 31

2 59
+  

  = 
59 62

118

+
 

  = 
121

118
 

 
71.  In an election between two candidates one got 52% of total valid votes 25% of the total 

votes were invalid. The total numbers of votes were 8400 how many valid votes did the 
other person get?  
a. 3276  b. 3196  c. 3024  d. 3026  
Njh;jypy; Nghl;bapl;l ,U Ntl;ghsh;fspy; xUth; nkhj;j jFjpAs;s thf;Ffspy; 52% 
ngw;whh;. 25% thf;Ffs; nry;yhj thf;Fs; gjpthd nkhj;j thf;Ffs; 8400 vdpy; kw;nwhUth; 
vj;jid jFjpAs;s thf;Ffisg; ngw;whh;?  
a. 3276  b. 3196  c. 3024  d. 3026  

 
tpsf;fk; 

 
total votes = 8400  

 25% of votes are invalid = 8400 ×  
25

100   
25% thf;Ffs; nrhy;yhj  

    = 8400 ×  
1

4    
thf;Ffs; = 8400 × 

25

100
 

    Invalid = 2100   = 8400 ×  
1

4
  = 2100  

Now total number of valid votes = 8400 – 2100      ,g;nghOJ jFjpAs;s  
      = 6300   thf;Ffs; = 8400 – 2100 = 6300 

other person will got 48% of valid votes then    kw;nwhUth; 48% jFjpAs;s  

= 
48

6300 3024
100

 =       thf;Ffs; ngw;whh; vdpy;   

         
48

6300 3024
100

 =  
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72. 800 boys and 600 girls appeared in an examination of which 60% of the boys and 70% of 
the girls passed out in the examination. Find total Number of students who did not pass?  
a. 420   b. 500   c. 520   d. 480  
xU Njh;it 800 khzth;fSk; 600 khztpfSk; vOjpdhh;fs;. me;jj; Njh;tpy; 60% 
khzth;fSk; 70% khztpfSk; Njh;r;rp ngw;wdh; vdpy;> Njh;r;rp ngwhj khzt> khztpfspd; 
vz;zpf;ifapy; fhz;f.  
a. 420   b. 500   c. 520   d. 480  
 
tpsf;fk; 
 
Number of students who are passed = 60% boys + 70% Girls  
Number of students who did not pass = 40% boys + 30% girls 

     = 
40

800
100

 + 
30

600
100

  

     = 320 + 180  
     = 500  
Njh;r;rp ngwhj khzt> khztpfs; = (100 – 60%) khzth;fs;  

vz;zpf;if + (100 – 70%) khztpfs;  

     = 
40

800
100

 + 
30

600
100

  

     = 320 + 180  
     = 500  

 
73. The income of a person is increased by 20% and then decreased by 20% find the change in 

his income percentage.  
a. 2% decrease b. 3% decrease c. 1% decrease d. 4% decrease 
xU eghpd; tUkhdk; 20% mjpfhpf;fg;gl;L gpwF 20% Fiwf;fg;gLfpwJ vdpy;> mtUila 
tUkhdj;jpy; Vw;gLk; khw;wj;ij fhz;f.  
a. 2% FiwAk; b. 3% FiwAk; c. 1% FiwAk; d. 4% FiwAk; 
 
tpsf;fk; 
xU eghpd; tUkhdk; Rs. x vd;f.  
Let us consider  
  Initial income = 100 Rs  
  After 20% increase  

    in income = 
120

100 120
100

 =  Rs  

  After 20% decrease in new income = 12 0
8 0


100

96=  

      difference = 100 – 96 = 4 Rs    
        4% decrease  

Short cut:  Effective percentage = a + b + 
100

a b
 

  (xl;Lnkhj;j rjtPjk;)  
 Here a = 20%   b = -20%  

   = 20 – 20 + 
(20)( 20)

100

−
 

   = 0 - 
20 20

100


  = 4%  
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74. In an examination 34% of the students failed in mathematics and 42% failed in English if 
20% of the students failed in both the subjects, then find the percentage of students who 
passed in both the subjects?   
a. 40%  b. 41%  c. 44%  d. 43%  
Njh;T xd;wpy; 34% khzth;fs; fzpjj;jpYk; 42% Mq;fpyj;jpYk; Njhy;tpAw;wdh;. 20% 
khzth;fs; ,uz;L ghlq;fspYk; Njhy;tpAw;wdh; vdpy; vj;jid rjtPjk; khzth;fs; ,U 
ghlq;fspYk; Njh;r;rp ngw;wdh;? 
a. 40%  b. 41%  c. 44%  d. 43%  

  
tpsf;fk; 
 
Let the total number of students be 100 

 Maths both English  

   
Students failed at least one subject = 14 + 20 + 22 = 56  
students passed in both the subjects = 100 – 56 = 44  

 
 
75. Two numbers are less than third number by 30% and 37% respectively. How much 

percent is the first number greater than by the second?  
a. 20%    b. 30%   c. 11.1%  d. 40%  
,U vz;fs; %d;whk; vz;iz tpl KiwNa 30% kw;Wk; 37% FiwT vdpy; Kjy; vz; 
,uz;lhk; vz;iz tpl vj;jid rjtPjk; mjpfk;?  
a. 20%    b. 30%   c. 11.1%  d. 40%  

 
tpsf;fk; 
Let the third number be 100  
then, First number = (100 – 30)  = 70 
second number (100 – 37)   = 63 

 Percentage increase of first number greater than second = 
70 63

100
63

−
  

      = 
7

100
63

   = 
100

11.1%
9

=  

%d;whtJ vz; 100 vd;f.  
  Kjy; vz; = 100 – 30 = 70  
  ,uz;lhk; vz; = 100 – 37 = 63 

 Kjy; vz; ,uz;lhk; vz;iz tpl ngw;w mjpf rjtPjk; = 
70 63

100
63

−
  

       = 
7

100
63
  = 

100

9
 =11.1%  
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76. The value of a machine depreciates at the rate of 10% per annum. If its present value is Rs. 
1,62,000 what was the value of the machine 2 years ago?  
a. 19,00,000   b. 1,00,000  c. 2,00,000  d. 2,10,000  
xU ve;jpuj;jpd; kjpg;G tUlj;jpy; 10% Nja;khdk; MFk;. mjd; jw;Nghija kjpg;G & 
1>62>000 vdpy; 2 tUlq;fs; Kd;G mjd; kjpg;G vd;d?  
a. 19,00,000   b. 1,00,000  c. 2,00,000  d. 2,10,000  
 
tpsf;fk; 

value of Machine 2 years age  = 
2

162000

10
1

100

 
− 

 

 

 (2 tUlq;fs; Kd;G ve;jpuj;jpd; kjpg;G) = 
2

162000

1
1

10

 
− 

   

      = 
2

1,62,000

9

10

 
 
 

 = 
162

2

1000 10 10

9

  

9
2,00,000=  

  
77. If the population of a town increased from 25000 to 30000 in a year. find the percentage 

increase in population?  
a. 19%   b. 18%  c. 20%  d. 25%  
xU efuj;jpd; kf;fs;njhif Xh; Mz;by; 25000 ,ypUe;J 30000 Mf mjpfhpj;Js;sJ vdpy;> 
kf;fs; njhif mjpfhpg;G rjtPjj;ijf; fhz;f.  
a. 19%   b. 18%  c. 20%  d. 25%  
 
tpsf;fk; 
 
kf;fs; njhif mjpfhpg;G = 30000 – 25000 = 5000 
 

kf;fs; njhif mjpfhpg;Gr; rjtPjk; = 
5000

100 20%
25000

 =  

 
78. A welfare association has a sports club where 25% of the members play football, 18% play 

Cricket, 27% play volley ball and the rest play indoor games. If 60 member play indoor 
games then how many members are there in the sports club?  
a. 150   b. 200   c. 250   d. 300  
xU eyr;rq;fj;jpd; tpisahl;L kd;wj;jpy;> 25% cWg;gpdh;fs; fhy;ge;ijAk;> 18% 
cWg;gpdh;fs; kl;ilg;ge;ijAk;> 27% cWg;gpdh;fs; ifg;ge;ijAk; kw;wth;fs; cs;suq;F 
tpisahl;LfisAk; tpisahLfpd;wdh;. 60 cWg;gpdh;fs; cs;suq;F tpisahl;Lfis 
tpisahLfpd;wdh; vdpy; tpisahl;L kd;wj;jpy; vj;jid cWg;gpdh;fs; cs;sdh;? 
a. 150   b. 200   c. 250   d. 300  

 
 tpsf;fk; 

percentage of members playing indoor games = (100 – 25 – 27 – 18)%  
        = (100 – 70) % = 30%  
  Given Total number of members playing indoor games = 60  

  Total number of members in sports club 
60

100
30

  = 200 
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cs;suq;F tpisahLk; cWg;gpdh;fspd; rjtPjk; (100 – 25 – 27 – 18)% 
        = (100 – 70)%  = 30%  

cs;suq;F tpisahl;Lfis tpisahLk; cWg;gpdh;fspd; vz;zpf;if = 60  
 tpisahl;L kd;wj;jpy; ,Uf;Fk; nkhj;j cWg;gpdh;fspd; vz;zpf;if  

=  200 = 
60

100
30

  

 
79.  A fruit vendor bought some mangoes of which 20% were rotten. He sold 50% of the rest. 

find the total number of mangoes bought by him initially if he has 160 mangoes with him.    
a. 300   b. 400   c. 450   d. 500  
xU go tpahghhp thq;fpa khk;goq;fspy; 20% mOfpapUe;jd. kPjKs;stw;wpy; 50% 
khk;goq;fis tpw;Wtpl;lhh;. jw;NghJ 160 khk;goq;fs; mthplk; ,Uf;fpd;wd vdpy;> Kjypy; 
mth; thq;fpa nkhj;j khk;goq;fspd; vz;zpf;ifiaf; fhz;f.  
a. 300   b. 400   c. 450   d. 500  
 
tpsf;fk;  
Let initially total number of mangoes be 'x' 
 20% of mangoes were rotten means now he has = 80% of x  

 50% of mangoes were sold =  
50 80

100 100
x   

      
40

40%
100

x x=
 [Remaining mangoes = 160]

 

 Now he have total number of mangoes  = 40% of x  
    40% of x = 160  

      x = 
160

100
40

  = x = 400  

Kjypy; mth; thq;fpa nkhj;j khk;gok; 'x' vd;f.  
  20% mOfpapUe;jd vdpy; jw;NghJ mthplk; = 80% of x  

 50% khk;goq;fs; tpw;W tpl;lhh; vdpy; mthplk; = 
50 80

100 100
x   = 40% of x  

nkhj;j khk;goq;fspd; vz;zpf;if = 
160

100
40

   [kPjKs;s khk;goq;fs; = 160] 

        = 400 
  
80. Ram scored 70% in an examination. If his score was 490 marks find the maximum marks 

of the examination.  
a. 600   b. 650   c. 700   d. 750  

 
uhk; vd;gth; xU Njh;tpy; 70% kjpg;ngz;fisg; ngw;whh;. mth; ngw;wJ 490 kjpg;ngz;fs; 
vdpy; Njh;tpd; nkhj;j kjpg;ngz;ffisf; fhz;f.  
a. 600   b. 650   c. 700   d. 750  

 
Let the maximum marks be 'x' then 70% of x = 490  

       x = 
490

100
70

   x = 700  
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81. If the selling price of a LED TV is equal to 
6

5
 of its cost price then find gain percentage.  

a. 15%   b. 20%  c. 25%  d. 30%  
Xh; vy;.,.b  (LED) njhiyf;fhl;rpapd; tpw;gid tpiy mjd; mlf;f tpiyiag; Nghd;W 

6

5
 klq;F vdpy; ,yhgr; rjtPjk; fhz;f.  

a. 15%   b. 20%  c. 25%  d. 30%  
 

Let the cost price be 'x' then selling price = 
6

5
x Profit = S.P – C.P  

       profit  = 
6

5
x – x  

        = 
1

5
x  

     profit percentage = 
/ 5

100
x

x
  

        = 
100

5
 = 20%  

LED njhiyf;fhl;rpapd; mlf;f tpiy 'x' vd;f. 

    tpw;w tpiy = 
6

5
x  

    ,yhgk; = 
6

55
xx x− =  

    ,yhgk; rjtPjk; 5 100 20%

x

x
 =  

  
  
82. By selling a bicycle for Rs. 3000 a shopkeeper loses 10% for how much should he sell it to 

have a profit of 5%?  
a. 3000   b. 3200  c. 3500  d. 4000 
xU filf;fhuh; kpjptz;bia Rs. 3000 f;F tpw;gjhy; mtUf;F 10% el;lk; Vw;gLfpwJ. 
mtUf;F 5% ,yhgk; fpilf;f Ntz;Lnkdpy; kpjptz;bia vd;d tpiyf;F tpw;f Ntz;Lk;?  
a. 3000   b. 3200  c. 3500  d. 4000 

 
tpsf;fk; 
selling price (tpw;w tpiy) = Rs. 3000 

  Loss (el;lk;)  = 10%  

  cost price (mlf;f tpiy) = 
( )

100

100 %L−
 × selling price (tpw;gid tpiy)  

     = 
100

3000
90

   C.P = 
10000

3
 

   Gain (,yhgk;) = 5% Ntz;Lnkdpy;  
  tpw;w tpiy  = 105% mlf;ftpiy  
  selling price  = 105% of cost price 

 Selling price  (tp.tp) 
105

=

35

100

100 00


3
. 3500S P= =  
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83. Ram bought a washing machine for Rs. 14150 and paid Rs. 1350 for its transportation. 
Then he sold it for Rs. 18600. Find his gain percentage?  
a. 10%   b. 12%  c. 15%   d. 20%  

uhk; vd;gth; xU Jzp Jitf;Fk; ,ae;jpuj;ij Rs. 14150 f;F thq;fpdhh; kw;Wk; mjd; 
Nghf;Ftuj;J nryTf;fhf Rs. 1350 I nrYj;jpdhh; gpwF mjid Rs. 18600 f;F tpw;whh; 
vdpy;> mthpd; ,yhgk; rjtPj;ij fhz;f.  
a. 10%   b. 12%   c. 15%  d. 20%  
 
tpsf;fk; 
 
Total cost price (mlf;f tpiy) = 14150 + 1350 = 15500  

 Selling price (tpw;gid tpiy) = 18600 

Gain% (,yhgk;%;) = 
18600 15500

100
15500

−
  

    
3100

100
15500

=     

    = 20%  
  
84. The cost price of 16 boxes of strawberries is equal to the selling price of 20 boxes of 

strawberries. Find gain or loss percentage?  
a. 20% Loss  b. 25% Loss  c. 25% gain  d. 22% gain 
16 ];l;uhnghp ngl;bfspd; mlf;f tpiyahdJ 20 ];l;uhnghp ngl;bfspd; tpw;gid tpiyf;Fr; 
rkk; vdpy;> ,yhgk; (m) el;lr; rjtPjk; fhz;f?  
a. 20% el;lk;  b. 25% el;lk;  c. 25% yhgk;  d. 22% yhgk;  

 
tpsf;fk; 
 
Let C.P of one strawberry box be 'x'  
Then C.P. of 20 strow berry = 20x 

  S.P. of 20 strow berry box = C.P. of 16 strow berry box = 16x 
    loss = C.P. – S.P = 20x – 16x = 4x  

     Loss = 
4

100
20

x

x
  = 20%  

xt;nthU ];l;uhnghp ngl;bapd; mlf;f tpiyiaAk; 'x' vd;f.  
 20 ];l;uhnghp ngl;bfspd; mlf;f tpiy = 20x  
NkYk; 20 ];l;uhnghp ngl;bfspd; tpw;gid tpiy = 16 ];l;uhnghp ngl;bfspd;  
   mlf;f tpiy = 16x 
   el;lk; = mlf;f tpiy – tpw;gid tpiy  

     = 20x – 16x = 4x  

   el;lk; % = 
4

100
20

x

x
 = 20%  

 
85. A dealer allows a discount of 20% and still gains 10% what is the cost price of the book 

which is marked at Rs. 440? 
a. 396   b. 320   c. 352  d. 376 
xU Gj;jfj;jpd; tpiyapy; 20% js;Sgb nra;jjhy; xU tpahghhpf;F 10% ,yhgk; 
fpilf;fpwJ. mg;Gj;jfj;jpd; Fwpj;j tpiy & 440 vdpy; mjd; mlf;f tpiy ahJ?  
a. 396   b. 320   c. 352  d. 376 
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tpsf;fk;  
  Marked price (Fwpj;j tpiy) = Rs. 440  
  Discount  (js;Sgb)   = 20%  

Then selling price (tpw;gid tpiy) = (100 – 20)% of Marked price (Fwpj;jtpiy)  
   S.P. = 80% of 440  

    = 
8 0

100
44 0  

   S.P. = 352  
Gain % = 10%  

Cost price (mlf;f tpiy) = 
10 0

11 0
352  

  C.P. = 320   
 
 
86. A dealer allows a discount of 5% in Marked price of Rs. 5500 then find selling price?  

a. 5440    b. 5335  c. 5225  d. 5555 
xU tpahghhp Fwpj;j tpiy & 5500 apy; 5% js;Sgb mspj;jhy; tpw;gid tpiyia fhz;f?  
a. 5440    b. 5335  c. 5225  d. 5555 

 
tpsf;fk;  

 
Selling price tpw;gid tpiy = (100 - D)%  Marked price (Fwpj;j tpiy)  

      - (100 – 5)% of 5500  

      = 
95

100
55 00  

      = 5225 
 
87. A dealer sold a TV set of Rs. 14400 with a successive discount of 10%, 20% then find 

marked price of the TV set?  
a. 22000  b. 21000  c. 20000  d. 20075 
njhlh; js;Sgbfs; 10%, 20% vd;wthW xU njhiyf;fhl;rp ngl;b Rs. 14400 – f;F 
tpw;fg;gLfpwJ vdpy; Fwpj;j tpiyia fhz;f.  
a. 22000  b. 21000  c. 20000  d. 20075 
 
tpsf;fk; 
 

Selling price (tpw;gid tpiy) = Marked price (Fwpj;j tpiy) 1 2100 100

100 100

D D− −   
   

   
 

   14400 = M.P. × 
100 10 100 20

100 100

− −
  

    
14400 100 100 

9 0 80
.M P=  

    
14400

200

100

72


=  Marked price  

    M.P. = 20000  
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88. A dealer gives a discount of 10% still he gains a profit of 20% with the marked price Rs. 
600 then find cost price of the shop?  
a. 410   b. 420   c. 430   d. 450 

xU tpahghhp 10% js;Sgbia toq;fpwhh;. ,Ue;jhYk; 20% yhgk; <l;Lfpwhh;. mjd; Fwpj;j 
tpiy & 600 vdpy; mlf;f tpiyia fhz;f?  
a. 410   b. 420   c. 430   d. 450 

  
tpsf;fk; 

 Fwpj;j tpiy (M.P) = Rs. 600, Discount = 10%  
    Selling price = (100 – 10)% × M.P 
    tpw;gid tpiy)  

      S.P. = 
90

100
6 00  

  S.P = 540;     Gain = 20%  

  Cost Price (mlf;f tpiy) = 
100

540
120

  

     C.P = 450    
 
89. The price of a product increased by 25% later it is decreased by 44% find the percentage 

change in the price of the product?  
a. 15% decrease   b. 10% decrease   
c. 20% decrease   d. 30% decrease 

xU nghUspd; tpiy 25% cah;j;jg;gl;L gpd;dh; 44% Fiwf;fg;gLfpwJ. vdpy; mg;nghUspd; 
tpiyapy; Vw;gl;l rjtpfpj khw;wk; vd;d?  
a. 15% FiwAk;   b. 10% FiwAk;   
c. 20% FiwAk;   d. 30% FiwAk;  

 
 tpsf;fk;   

 Effective percentage change = %
100

a b
a b

 
+ + 

 
 

 Percentage change = 25 – 44 + 
25 ( 44)

100

 −
 

    = 25 – 44 = 
25 44

11

100
4

 = 25 – 55 = -30 

 
90. A dealer bought a television set for Rs. 12000 and  sold it for Rs. 15,000. Find the profit / 

loss made by him for 4 television set.  
a. 12000 profit b. 15000 loss  c. 76000 loss  d. 17000 profit  
xU nkhj;j tpahghhp xU njhiyf;fhl;rp ngl;bia &. 12000 f;F thq;fp & 15000 f;F 
tpw;fpwhh; vdpy; 4 njhiyf;fhl;rp ngl;bfis tpw;gjhy; fpilf;Fk; ,yhgk; / el;lj;ij 
fhz;f.  
a. 12000  yhgk; b. 15000 el;lk; c. 76000 el;lk; d. 17000 yhgk; 

 
tpsf;fk; 
 
For 1 television set = 15000 – 12000  

     = 3000 profit (,yhgk;)  
For 4 television set (ehd;F njhiyf;fhl;rp ngl;bfSf;F = 4 × 3000 = 12000 
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91. Find the L.C.M of (5x – 10), (5x2 - 20)  
a. 5(x-2) (x-4)  b. 5 (x+2) (x – 2)  c. 15(x+2) (x-2)  d. 10(x-2)2 
(5x – 10), (5x2 - 20) ,jw;F kP.rp.k fhz;f?  
a. 5(x-2) (x-4)  b. 5 (x+2) (x – 2)  c. 15(x+2) (x-2)  d. 10(x-2)2 

 
tpsf;fk;  
  

  5x – 10 = 5(x-2)  
  5x2 – 20 = 5(x2 – 4) = (5(x2 – 22)   (a2 – b2) = (a+b) (a-b) 
    = 5(x+2) (x-2)  
  LCM [(5x – 10), (5x2 – 20)] = 5 (x+2) (x-2)  
 
 
92. The LCM of 2 numbers is 2079 and their HCF is 27 if the 1st number is 189, find the 2nd 

number.  
a. 298   b. 295   c. 297  d. 287  
,U vz;fspd; kP.rp.k 2079> kP.ngh.t. 27 mt;ntz;fSs; Kjy; vz; 189 vdpy; ,uz;lhk; 
vz;?  
a. 298   b. 295   c. 297  d. 287  

 
tpsf;fk;  
  

  L.C.M × H.C.F = product of two numbers  
  2079 × 27 = 189 × 2nd number  

  2nd number = 
2079 27

189


  = 297  

   

93. The difference of two numbers is 
1

9
 of their sum. Their sum is 45. Find the LCM. 

a. 225   b. 100  c. 150   d. 200  

,U vz;fspd; tpj;jpahrk; mjd; $l;Lj; njhifiag; Nghy; 
1

9
 klq;Fk;> $l;Lj;njhif 45 

vdpy; kP.rp.k fhz;f?  
a. 225   b. 100  c. 150   d. 200  

 
tpsf;fk;  
  
Let the two numbers be x and y  

   x – y = 
1

9
 (x + y)  

  x – y = 
1

9
45

5

      [ 45]x y+ =  

  

x y− 5

x y

=

+ 45

2 50x

=

=

    x = 25, y = 20  

 LCM of (25, 20) = 100  
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94. The LCM of two numbers is 495 and their HCF is 5. If sum of the numbers is 100, find the 
difference of the numbers.  
a. 10   b. 20   c. 15  d. 25 
,U vz;fspd; kP.rp.k 495 kw;Wk; kP.ngh.t 5. mt;tpU vz;fspd; $l;Lj;njhif 100> vdpy; 
,U vz;fSf;fpilNa cs;s tpj;jpahrk; vd;d?  
a. 10   b. 20   c. 15  d. 25 

 
tpsf;fk;   
Let the two numbers be 'x' and 'y'  
L.C.M × H.C.F = product of two numbers  

   495 × 5 = x × y  
   xy = 495 × 5  
 Given x + y = 100 
   y = 100 – x  
  x y = 495 × 5 
  x (100 – x) = 495 × 5 
  100x – x2 = 495 × 5 
  x2 – 100 x + (495 × 5) = 0 
  (x – 55) (x - 45) = 0 
  x = 55  y = 45 
  x y = 495 x 5  
  x = 55  
  55y = 495 x 5 
  y = 495 x 5 / 55 = 45 
  y = 45 
  there x = 55   y = 45 

difference of the numbers = x – y  
     = 55 – 45  = 10 
 
95. Three rods of length 15m, 42m, and 39m are to be cut into pieces of equal lengths. Find the 

greatest possible length of each piece? 
a. 5m   b. 6 m  c. 3 m  d. 4 m 
15 kP> 42kP> 39kP ePs msTs;s %d;W fk;gpfis rk Jz;Lfshf gphpf;Fk; NghJ> Jz;bd; 
mjpfgl;r ePsk; vd;d?  
a. 5 kP   b. 6 kP  c. 3 kP  d. 4 kP  

 
tpsf;fk;   

  Greatest possible length is 

    H.C.F. of (15, 42, 39)   
315,42,39

5, 14, 13
 

    15 = 5× 3 
    42 = 3 × 2 × 7  
    39 = 3 × 13 
 H.C.F (15, 42, 39) = 3 
 
96. Two numbers are in the ratio 3 : 4 and the product of their L.C.M and H.C.F is 10800 find 

the sum of the numbers.  
a. 210   b. 220   c. 219  d. 250  
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,U vz;fs; 3 : 4 vd;w tpfpjj;jpy; cs;sJ. mtw;wpd; kP.rp.k. kw;Wk; kP.ngh.t. Mfpatw;wpd; 
ngUf;Fj; njhif 10>800 vdpy; mt;tpU vz;fspd; $l;Lnjhif vd;d?  
a. 210   b. 220   c. 219  d. 250  

 
 
 
 
tpsf;fk; 
 
let the numbers be 3x, 4x 

 L.C.M × H.C.F = product of two numbers  
  3x × 4x = 10800  

   x2 = 
10800

3 4
 = 

108
36

100
25

3 4
 

    x = 6 × 5 
    x = 30  
 The numbers are 3 × 30 = 90 
     4 × 30 = 120  
 sum of the numbers = 120 + 90  
      = 210  
     
97. Ratio of two numbers is 6 : 7 and the LCM is 420, then the smaller number is?  

a. 10   b. 60   c. 70  d. 30 
,U vz;fs; 6 : 7 vd;w tpfpjj;jpy; cs;sJ. mjd; kP.rp.k 420 vdpy; kpfr; rpwpa vz; vd;d?  
a. 10   b. 60   c. 70  d. 30 

 
tpsf;fk;   

 Let the numbers be 6x, 7x  
  L.C.M (6x, 7x) = 420   HCF = x  

   6 × 7 × x2 = 420 × x = 
420

6 7
x=


 

   x = 10  
Then the smaller number is 6 × 10 = 60 

 
98. Three numbers are in the ratio of 3 : 4 : 5 and their LCM is 2400. Their HCF is  

a. 40   b. 80   c. 120   d. 200 
%d;W vz;fs; 3 : 4 : 5 vd;w tpfpjj;jpy; cs;sJ. mtw;wpd; kP.rp.k2400 vdpy; kP.ngh.t 
fhz;f.  
a. 40   b. 80   c. 120   d. 200 

 
tpsf;fk;  
  

  Let the numbers be 3x, 4x, 5x  
   L.C.M (3x, 4x, 5x) = 2400 
    3 × 4 × 5 × x = 2400  

       x = 2400  

          3 × 4 × 5  
     x = 40  

The three numbers are 3 × 40 = 120  
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     4 × 40 = 160  
     5 × 40 = 200 
   H.C.F (120, 160, 200) = 40  
  
 
     
99. The Greatest number of four digits which is divisible by 15, 25, 40 and 75 is  

a. 9000  b. 9400  c. 9600  d. 9800  
15, 25, 40, 75 My; tFglf;$ba ehd;F ,yf;F vz;fspy; kpfg; nghpa vz; vJ?  
a. 9000  b. 9400  c. 9600  d. 9800  
 
tpsf;fk; 
 

  The Greatest four-digit number = 9999 
  L.C.M. (15, 25, 40, 75) = 600 
   Dividing 9999 by 600 
    Remainder = 399 
 The Greatest 4 digit number divisible by 15, 25, 40 and 75 = 9999 – 399 = 9600 
 
100. Find the least number divided by 12, 15, 20, 54 and leaves a remainder each of 8. 

a. 530  b. 544   c. 548   d. 560  
ve;j xU rpwpa vz; 12, 15, 20 kw;Wk; 54-y; tFg;gl;lhy; xt;nthd;wpYk; kPjp 8 Mf mikAk;?  
a. 530  b. 544   c. 548   d. 560  

 
tpsf;fk; 
 

 Required number = L.C.M (12, 15, 20, 54) + 8 
     = 540 + 8  
     = 548  
 
 


